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A Level H2 Math

Equations and Inequalities Test 3

Ql

Q2
Mr Tan invested a total of $25,000 in a structured deposit account, bonds and an

estate fund. He invested $7,000 more in bonds than in estate fund. The projected
annual interest rates for structured deposit account, bonds and estate fund are 2%,
3% and 4.5% respectively. Money that is not drawn out at the end of the year will
be re-invested for the following year.

Mr Tan plans to draw out his money from all investments at the end of the second
year and estimates that he will receive a total of $26,300. Find the amount of money
Mr Tan invested in each investment, giving your answer to the nearest dollar.
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Q3

Replacing x with |x‘ ,

2 <|x<-lor0<|x<1
-2< ‘.x| <—-1 = no solution
For U<|x‘ <1,

0 <[+ and [+ <1

xeR,x#0 and —1<x<1
Thus, range of values: —1<x<1, x#0



